I 18 j
1 STLEEOHMA
# 1 —1 5t E@m#mn
w B(E M) ATAERL A B (%)
4H 5H 6H 4H 5H 6H B 100 -4
W EFE 1,278,818| 1,400,198 1,358,720| 107.3 | 107.2 | 100.4 104.8
(100.0) (109.5) (106.2)
1 FE R KB R 1,033,864 1,152,774| 1,111,823| 108.2 | 108.2 | 101.4 105.8
(100.0) (111.5) (107.5)
FEZINLN 437,875 555,747 522,433 124.2| 116.5| 106.8 115.0
(100.0) (126.9) (119.3)
BRI 595,989 597,027 589,390| 98.8| 101.4 97.1 99.1
(100.0) (100.2) (98.9)
o 2 R KUB R 56,396 62,959 58,012| 101.7 [ 101.2 87.5 96.4
(100.0) (111.6) (102.9)
B2 182,901 178,775 182,847| 103.7| 102.5 98.5 101.5
(100.0) 97.7) (100.0)
=7 NVTLE R 5,657 5,690 6,038| 125.7| 126.4| 130.4 127.5
(100.0) (100.6) (106.7)

EA A ()N, ER13F4H %100, 0L L& D%,

Rk 1 SAEEE S 1Y HA oD A Bl « H-— R B Eh )
(CoOHETHEHTAT IO, 1348 %2100, 0L L8 THS, )

(1) CEfFEPER)

6 D7E bmid 19K3, 523fFH, FR134£4 ] 105, 7] &ML TS,
ATEER A %100, 0%EIFIERIC TH D,

Fo, BV EETIZRMER A 4. 7% 0 INE7a->Tu\5,

@) [B—MExuE(E ¥

6 A D7E E&Eix, 19K, 118{8M, WErk134F4 A I107. 518l T\a,

AFERL A HiXl. 4% TH5,

(3) (5 X IE{E )

6 H D5E FEIL. 580&E M. KA 1344 H 102, 91 &ML T2,
PRI R A S 2 (LA R R 231101, 3 &8N, —i% s s 5a@
EHEE LT, — i f) 1103, 3 &L, (R —12MR)




(4) [(REfxEE)
6 H D5E FEIL1, 828(EM, FRk134E4H 1100, 0 LIFIZ R TH D,
P —E 2P TliL, TLEDau HaENT101. 0, T4 k%88, 0)&
7o TND, (FI —12H)
5) (Ir—7NTLEHEIE]
6 A O7¢ EEid, 60fEM, k1344 H He106. 71880,
H—E AR TlE, _R— 7 —EZMRT101. 4], AP —EZH1100. 0 &
7o TS, (FI—12H7)
2 BRAREBHDOEIM

* 1 -2 HHEEEEERN

WHREEEB(N) AR A B (%)
4A 10H 4A 104
WEEFE 194,478 cee 95.6
(100.0)
IR U E 154,779 e 93.6
(100.0)
FEZINLN 18,254 cee 94.6
(100.0)
BaEp AL 136,525 cee 93.5
(100.0)
2R AR UM E 22,066 e 110.7
(100.0)
=iipee = 16,345 cee 99.4
(100.0)
=7 NTLEEE 1,288 cee 77.7
(100.0)

&AM ( VIE R34 H %2100, 0L L7-ExDiEE

(R PESE ARV 344 OF UEREA UL ATFEL 95, 6% L Lie>TND,



RO—1 FZHH - —RBITE LFHORI (FRL134EE)

[ 57, %]

= EKX & SERLI34EAA 5H 6H 7H 8H 9H 104 114 124 SERLI44E1 A 2H 3H
i} E B ¥ & K 1,278,897 1,400,489 1,369,114
(100.0) (109.5) (107.1)
woOoA W fF OF ¥ 1,090,339 1,216,024 1,178,011
(100.0) (111.5) (108.0)
% B R E 1,033,864 1,152,774 1,111,823
(100.0) (111.5) (107.5)
[ 487,473] [ 603,003] [ 568,749]
5 & = % 857,039 937,825 901,467
(100.0) (109.4) (105.2)
[ 414,646] [ 510,503] [ 481,127]
7 o= % @ 3 88,414 117,349 112,377
(100.0) (132.7) (127.1)
[ 54,792] [ 77,220 [ 71,475]
& i} 88,411 97,600 97,979
(100.0) (110.4) (110.8)
[ 18,035] [ 15,280] [ 16,147]
O B B K B 411,290 503,959 475,037
(100.0) (122.5) (115.5)
[ 375,070] [ 467,368] [ 439,249]
P H S 25,989 28,807 27,388
(100.0) (110.8) (105.4)
[ 25,989] [ 28807] [ 27,388]
= 3 19,213 19,314 19,432
(100.0) (100.5) (101.1)
[ 7,335) [ 7,298] [ 7,246)
A4 v ¥ — 3 v bk 20,456 22,421 21,896
(100.0) (109.6) (107.0)
[ 4,985] [ 5,149] [ 4,889]
(SR S ' SN 195,369 245,146 246,354
r 35) r 35) r 35)
(100.0) (125.5) (126.1)
[ 157,402] [ 179,005] [ 173,236]

GEDMHE IR, 5 — B XUB(E F RO L&icE Ehen, [ IS s Hand,
(#£2) () IR 344 = 100.0&L7=RFOfE#Z "4, [ JIINCC (NTT, KDDUSA O FHH) OF ez ~d,




=¥ X 4 SERLI34EAA 5H 6H 74 8H 9H 104 114 124 SERRI44E1A 2H 3H

B i} % 437,875 555,747 522,433
(100.0) (126.9) (119.3)
T OF B % 390,239 485,938 457,246
(100.0) (124.5) (117.2)
2 S - S= 47,636 69,809 65,187
(100.0) (146.5) (136.8)
£ il 0 0 0
(100.0) 0.0) 0.0)
fi A N = I O/ i 375,070 467,368 439,249
(100.0) (124.6) (117.1)
P H S 24,286 26,897 25,548
(100.0) (110.8) (105.2)
E5] B -1 0 0
(100.0) (0.0) (0.0)
A4 v ¥ — 3 v bk 0 0 1
(100.0) 0.0) 0.0)
% I A 148,976 170,751 163,851
(100.0) (114.6) (110.0)
22 i} % I s 595,989 597,027 589,390
(100.0) (100.2) (98.9)
T OF B % 466,800 451,887 444,221
(100.0) (96.8) (95.2)
7T o= 2 x i 40,778 47,540 47,190
(100.0) (116.6) (115.7)
i H 88,411 97,600 97,979
(100.0) (110.4) (110.8)
#oH - B W R i 36,220 36,591 35,788
(100.0) (101.0) (98.8)
P H S 1,703 1,910 1,840
(100.0) (114.6) (110.0)
= 3 19,214 19,314 19,432
(100.0) (100.5) (101.1)
A4 v ¥ — 3 v bk 20,456 22,421 21,895
(100.0) (109.6) (107.0)
b # FO¥E IA 46,393 74,395 82,503
(100.0) (160.4) (177.8)

(8 O ) IR PR 1344 A =100.0& L7 D F iz R,




=¥ X 4 SEREI34E4A 5H 6H 7H 8H 9H 104 114 124 SERRI44E1A 24 3H
% T OME R E B 56,475 63,250 66,188

(100.0) (112.0) (117.2)
H A nk kB 1,231 1,158 1,116
(100.0) 94.1) (90.7)
F e 54,027 60,925 63,918
(100.0) (112.8) (118.3)
HOR ® B 1,217 1,167 1,154
(100.0) (95.9) (94.8)
E5] B 967 937 1,006
(100.0) (96.9) (104.0)
A4 v ¥ — x v bk 11,345 11,561 11,407
(100.0) (101.9) (100.5)
LTI P Rl R = 12,484 13,017 13,407
(100.0) (104.3) (107.4)
HOF & ¥ & B 1,214 1,141 1,056
(100.0) (94.0) (87.0)
T o= X s % KB 10,195 10,844 11,301
(100.0) (106.4) (110.8)
& il (i3 % 1,075 1,032 1,050
(100.0) (96.0) 97.7)
E5] B 904 876 936
(100.0) (96.9) (103.5)
A4 v ¥ — x v Bk 6,199 6,240 6,077
(100.0) (100.7) (98.0)
B AR AU S P 43,991 50,233 52,781
(100.0) (114.2) (120.0)
HOH Iz % & B 17 17 60
(100.0) (100.0) (352.9)
T o= X s % KB 43,832 50,081 52,617
(100.0) (114.3) (120.0)
£ il (i3 % 142 135 104
(100.0) (95.1) (73.2)
E5] B 63 61 70
(100.0) (96.8) (111.1)
A4 v ¥ — x v K 5,146 5,321 5,330
(100.0) (103.4) (103.6)

) O ) IR PR 1344 A =100.0& L7 RO F iz R,




®E KX S TRk 1344 A 5H 64 A 8H 9H 104 11H 12H SRR 144ELA 2A 3A
/=S S 188,558 184,465 191,103
(100.0) (97.8) (101.3)
AR/ GBS S 182,901 178,775 184,898
(100.0) 97.7) (101.1)
F L e Ya v k% 166,566 162,787 168,246
(100.0) (97.7) (101.0)
AR A R SR S 10,095 10,136 10,411
(100.0) (100.4) (103.1)
z » fth, 6,240 5,852 6,241
(100.0) (93.8) (100.0)
Hh k- ES 175,588 171,540 177,361
(100.0) 97.7) (101.0)
FLE Ve v ¥ 159,315 155,621 160,789
(100.0) 97.7) (100.9)
AR S S 10,072 10,113 10,387
(100.0) (100.4) (103.1)
z [ fth, 6,201 5,806 6,185
(100.0) (93.6) (99.7)
fir 2 H 7,313 7,235 7,537
(100.0) (98.9) (103.1)
FLE Ve v ¥ 7,251 7,166 7,457
(100.0) (98.8) (102.8)
AR N S-S 23 23 24
(100.0) (100.0) (104.3)
z ) fth, 39 16 56
(100.0) (117.9) (143.6)
=T NTFLE R 5,657 5,690 6,205
(100.0) (100.6) (109.7)
N—Ty P —t R 3,706 3,862 3,876
(100.0) (104.2) (104.6)
N eH - R 712 708 722
(100.0) (99.4) (101.4)
[N R 92 67 71
(100.0) (72.8) (77.2)
z o 1,147 1,053 1,536
(100.0) (91.8) (133.9)

(8 O ) IR PR 1344 A =100.0& L7 D fi iz R~




#I—2 BXH|-EEIEEERORI (FRL13EEK)

[HAZ: AL %]

=X X 4 SERE134E4A SERTREF A to 10H SRR A o

R 214,140 97.0
(100.0)

oM it ¥ #F 194,478 95.6
(100.0)

BROmE ot ¥ K 8,127 143.0
(100.0)

fih £t 2 5 o oA A 11,535 98.5
(100.0)

ESR i IR R =S 191,633 96.2
(100.0)

oM it ¥ #F 176,845 95.5
(100.0)

BRoomE ot %K 4,995 150.0
(100.0)

fih £t 5 o Mo 9,793 92.1
(100.0)

MR AUERIE 165,919 94.2
(100.0)

[ 38,598] 83.9

oM it ¥ #F 154,779 93.6
(100.0)

BeoomE ot ¥ 4,824 157.6
(100.0)

fih £t 5 o o 6,316 81.4
(100.0)

R ERRR 13,454 86.1
(100.0)

oM ¥ #F 11,683 90.7
(100.0)

BRoOWE ot ¥EOHK 1,054 54.0
(100.0)

fih £t 5 o o\ A 717 90.0
(100.0)

RS 470 128.4
(100.0)

oM it ¥ #F 341 114.4
(100.0)

BRoomE ot ¥ 33 64.7
(100.0)

fih £t 5 o Mo 96 564.7
(100.0)

IR 4,502 109.7
(100.0)

oM ¥ #F 3,226 119.7
(100.0)

BRoOmE ot ¥EOK 19 17.9
(100.0)

fih £t 2 5 o o 1,257 96.5
(100.0)

#r R (F2E) 1,914 14.8
(100.0)

oM 1t ¥ #F 611 5.5
(100.0)

BRoomE ot ¥ K 1,046 641.7
(100.0)

fih £t 5 o o H 257 14.6
(100.0)

(FED () RIZ PR 1344 H =100.0& LT=HF O fa iz w4,




[HAZ: AL %]

= E X SERRL3MEAH KRR A b 10H KRR A b
HEAT RS (BN =) 8,783 86.6
(100.0)
oM 1t ¥ #F 6,122 88.2
(100.0)
BRoomE ot %K 1,254 164.1
(100.0)
fih £t > 5 o o 1,407 57.9
(100.0)
PHS 2,691 95.9
(100.0)
oM 1t ¥ #F 1,090 81.7
(100.0)
BeoomE ot %K 60 240.0
(100.0)
fih £t 2 5 o o 1,541 106.6
(100.0)
AR AUEIE 25,714 (94.7)
(100.0)
oM 1t ¥ #F 22,066 (110.7)
(100.0)
BRoomE ot ¥ K 171 (63.6)
(100.0)
fih £t > 5 o oA 3,477 (121.2)
(100.0)
RIS AR AUEIE 3,241 (79.6)
(100.0)
oM 1t ¥ #F 3,112 (85.3)
(100.0)
BRoomE ot ¥EOHK 49 (48.5)
(100.0)
fih %t > 5 o o 80 (25.0)
(100.0)
— A AR AUEIE 22,473 (118.3)
(100.0)
oM it ¥ #F 18,954 (116.4)
(100.0)
BRoomE ot ¥ 122 (72.6)
(100.0)
fih £t 2 5 o o A 3,397 (133.3)
(100.0)

(FED () IE R 1344 8 =100.0& L7=HF O fa iz w4,




[HAZ: AL %]

T XX » SERR134E4 H KERIAEE A 10H KRR A

ok d ¥ 22,507 (104.5)
(100.0)

woOM e ¥ #F 17,633 (97.4)
(100.0)

BRORF R ¥ OF 3,132 (133.1)
(100.0)

fin 22 5 o H oM oHF 1,742 (161.0)
(100.0)

B o F % 19,244 (102.6)
(100.0)

woOM e ¥ & 16,345 (99.4)
(100.0)

A O 1,976 (109.5)
(100.0)

fin 22 5 o H o\ HF 923 (184.2)
(100.0)

1R 18,524 (100.7)
(100.0)

woOM e ¥ 15,990 (98.8)
(100.0)

A O 1,949 (111.4)
(100.0)

fin 22 5 o H o oHF 585 (125.8)
(100.0)

TR 720 (204.0)
(100.0)

woOM e ¥ & 355 (135.5)
(100.0)

BORF O ¥ O#F 27 (49.1)
(100.0)

fin 22 5 o H o oHF 338 (938.9)
(100.0)

=7 NTLE S 3,263 (117.0)
(100.0)

woOM e ¥ #F 1,288 (77.7)
(100.0)

A 1,156 (210.6)
(100.0)

fin 22 5 o H o oHF 819 (141.0)
(100.0)

(FED () RIE R 1344 H =100.0& LT=HF O fa iz w4,




	HD200115_001(1).pdf
	HD200115_001(2).pdf

